Trig 8.4
Find the inner (dot) product of 2 vectors

Determine the cross product of 2 vectors
Determine whether 2 vectors are perpendicular
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Find each inner product and state whether the vectors are perpendicular. Write
yes or no.

4.(5,2)-(-3,7 5.(-8,2)-(45,18) 6.(-4,9,8)-(3,2,-2)

It's a slope thing...
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What would it look like for 3 lines to all be perpendicular
to each other?

demo spaghetti
perpendicular to both?
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cross prod is vector perp to both
could be above the plane or below the plane
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Find each cross product. [Then verify that the resulting vector is perpendicular to | _ S
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sketch... hint: it is a plane

9. Find a vector perpendicular to the plane containing the points (0, 1, 2),
(-2,2,4),and (-1, -1, -1).



